[d° p_/dndeC

Ratio to ATLAS

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

7000 GeV pp Underlying Event
AL N L S N E N I BN S B A I g
u S(p,) vsAg(inl < 2.5,p_>0.5GeV, p_>2 GeV) 12
— =
-  m ATLAS 4%
= ¢ Sherpa 2.2.9 default — 9;
— - | <
B e
B 1o
=
- X
- ] o
| m _|
e &
—_Q ..I [ ........: 8
— e "ny lll...... mke
I " SanapmmananennEnnt —
B} o s}
L » e ol
- » ,Q'"" M S
— *. o*? — <
- ‘“Q .0-0" o
| "'Q-Q_ ,.Q-Q"* _1©
_ $4000000000000000000¢ .y
- 1=
— - O
N | | | | | | | Ly | | | | | | . =
:l T T T T | T T T T | T T T T | :
— =2
1
., _
'Y _
., .
* .9‘0""'
— . +? —0.5
., o
L R S B L. A
0 1 2 3

left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


